> Medidas de tiempo-
(pasowr de unaw unidad, v otra)
Soluciéw

a 3> 3x3.600=10.800 g

4 6.000 ¥ - 6.000 : 60 = 100 mirv
a4 > 4 w60 =240 mivv

& 120 mivw —» 120 :60=2 v

& 300 minw — 300 v 60 = 18.000 ¥
a 5h - 5 x60= 300 minw

a9 > 9 x3.600=32.400 g

a 1.140 mivw > 1.140 : 60=19

4 2.700 ¥ > 2.700 : 60 = 45 minv

4 1.380 y > 1.380 : 60 = 23 minv

6 2220y > 2.220 : 60 = 37 miwn

a 14 W > 14 v 60 = 840 min

A 62N —> 62 x60=3.720 miw

A 54.000 y —» 54.000 : 3.600= 15 h
A 540 minv - 540 : 60=9 v

a 86.400 s — 86.400 : 3.600 = 24 W
a 1.140 mivv > 1.140 : 60=19

A 111.600y — 111.600 : 3.600 = 31 v
A 20 v—> 20 »3.600= 72.000 g

& 62 mirvw > 62 ©3.600= 3.720 &

A 34 > 34 x3.600=122.400 g

& 153 mivw - 153 60 = 9.180 &
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1.560 minw— 1.560 : 60= 26 v
720 mivwv —» 720 : 60 =12 W
840 & » 840 : 60 = 14 wminv
3.360 ¥ —> 3.360 : 60 = 56 miwnv
3.600 ¥ —» 3.600 : 60 = 60 mirv
600 & —» 600 : 60 = 10 mirv
7.800 & —> 7.800 : 60 = 130 minv
180 mirvwv —» 180 : 60= 3
120 ¢y —» 120 : 60 = 2 miwnv

17 mivv > 17 x 60 = 1.020 &

38 minw - 38 w60 =2.280 &

24 W — 24 v 60 = 1.440 min
5h - 5 x60 =300 miv

21 mivw - 21 x60=1.260 ¥
2.040 mivv— 2.040 : 60 = 34 v
5.640 ¥ > 5.640 : 60 = 94 minv
230.400 ¥ — 230.400 : 3.600 = 64
75 miw — 75 160 =4.500 ¢
14 W — 14 x60 = 840 minv
1.620 ¥ —» 1.620 : 60 = 27 miwnv
2.880 minv —» 2.880 : 60 =48 v
133.200 & —» 133.200 : 3.600 = 37 W
16 v —» 16 ¥3.600= 57.600 ¢
94 minv — 94 x 60 = 5.640 &
17— 17 ¥3.600=61.200 ¢

2.940 ¥ > 2.940 : 60 = 49 miwnv
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